
A)

B)

51 – (2 + 33) × 2

32 × (2 + 1) – 22

52 + (15 ÷ 3) – 1

3 × (72 + 2)

(1 + 1) × 34 – 9

5 + 8 × (25 – 29)

(2 + 3) × 40

6 – 24 + (5 + 7) ÷ 4

2)

5 × (9 + 90) ÷ 32 2 × (62 + 2) – 21

1) (47 – 20) ÷ 32 6 × (5 + 3) ÷ 42

6) 72 ÷ (22 + 5) 8 – 3 × (16 ÷ 42)5) (12 – 9) × 24 43 – (8 × 2)

4)

18 – 72 × (3 + 2)

3) (81 ÷ 33) –1 + 5 35 + (34 ÷ 9)

1)

2)

3)

4)

99 ÷ (33 + 6) 62 × (4 + 2) – 283)

(62 + 1) – 1 10 × 22 + (1 – 5)1)

92 + (4 – 6) × 3 52 × (6 ÷ 2)5)

(12 + 25) ÷ 4 32 × (7 – 12) + 74)

41 – 23 + (3 × 5) (52 + 1) ÷ 132)

(1 – 43) × 2 (8 ÷ 2) × 7 – 536)

45 ÷ (22 + 1)

Solve the expressions and fill in the box with = or ≠ as appropriate.

Solve the expressions and match.C)

Solve the expressions and compare using >, <, or =.
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